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1. BEBBROE
(1) BN
HEAMEERE 60 60 0 60
H KB ZHF B 60 60 0 60
BEEEERE 7,600 7, 600 400 8, 000
BEEEZIFR 7,600 7,600 400 8, 000
ZHEFE 8, 684, 240 8, 684, 240 1, 044, 600 , 128, 840
ZWEHTE 0 0 0 0
ZMEHEIREEE 8, 684, 240 8, 684, 240 1,044, 600 , 128, 840
MUNEE 100 100 0 100
SZHLF R 100 100 0 100
HA 0 0 0
EE IS 8, 692, 000 8,692, 000 1,045, 000 . 137,000
z 2 5 'i‘:t = %Fﬁ
ExE 8,692, 000 8, 692, 000 0 , 692,000
% B HREM 0 0 0 0
WBHEFL 0 0 0 0
g€ 462, 000 462, 000 0 462, 000
REXBE 70, 000 70, 000 0 70, 000
BIEERE 10, 000 10, 000 0 10, 000
HERE 30, 000 30, 000 0 30, 000
ENRI &K E 100, 000 100, 000 0 100, 000
SeEIK K E 0 0 0 0
EEH 0 0 0 0
FHH 20, 000 20, 000 0 20, 000
Btk 0 0 0 0
R AR 0 0 0 0
Bhm& 0 0 0 0
g 8, 000, 000 8, 000, 000 0 , 000, 000
wE 0 0 0 0
IR 0 0 1, 045, 000 ,045, 000
&% B HREM 0 0 0 0
WwHEFS 0 0 0 0
=kl 0 0 198, 000 198, 000
REXAE 0 0 20, 000 20, 000
£ 0 0 30, 000 30, 000
BIEERE 0 0 20, 000 20, 000
EMEE 0 0 50, 000 50, 000
HHEERE 0 0 200, 000 200, 000
HEMRE 70, 000 70, 000
ENRI & AR E 0 0 0 0
SEELIK KL 0 0 7,000 7,000
EE# 0 0 0 0
FHH 0 0 0 0
BT ik 0 0 0 0
AR 0 0 40, 000 40, 000
= 0 0 400, 000 400, 000
HE 0 0 10, 000 10, 000
%%1' 8,692, 000 8,692, 000 1,045, 000 . 737,000
SR E IR 0 0 0 0




2. BEEIMERDER 0
(1) TEENMNE 0
EE MR IEET 0 0 0 0
(2) BENEA 0 0
%%71‘%% |:|+ 0 0 0 0
! . 0 0 0 0
éﬁﬂ—ﬁxIEﬂ*E#E ,Ulﬁﬁ 0 0 0 0
—RIEREAESE RS 0 0 0 0
—BRIFREA AR RS 0 0 0 0

il ?EIEIED%ajEiE/m@ =14
THWETE 100, 000 100, 000 0 100, 000
TWETE 100, 000 100, 000 0 100, 000
— R IERRBIE~DIREZE 8, 684, 240 8,684, 240 1,044, 600 9,728, 840
— R IERRBIE~DIREEE 8, 684, 240 8,684, 240 1,044, 600 9,728, 840
L HA4E T IE LR BA BE IR R 5 A 8,584, 240 A 8,584, 240] A 1,044, 600 A 9,628, 840
5 EIE”*E#FH}?E%W 379, 000, 000 379, 000, 000] 19, 000, 000 398, 000, 000
EXEIER il = 370, 415, 760 370,415, 7601 17,955, 400 388,371,160
I[[IE”*E#FEJ?*%W 370, 415, 760 370,415, 760] 17,955, 400 388,371,160




